1 (Sem-2) MDC 01-09
2025

MULTI DISCIPLINARY COURSE
Full Marks : 45

Time : 2 hours
The figures in the margin indicate full marks for the questions

Answer the questions from any one Option

OPTION—A : Natural and Physical Sciences in Everyday Life
Paper Code : MDC0200103

OPTION—B : Foundations of Mathematical Sciences—II
" Paper Code : MDC0200203

OPTION—C : Information Sources and Services
Paper Code : MDC0200303

OPTION—D : Personal Financial Management
Paper Code : MDC0200403

OPTION—E : Humanities and Social Sciences—II :
Democracy and Peoples’ Rights

Paper Code : MDC0200503

OPTION—TF : Information and Communication Technologies—II
Paper Code : MDC0200603

OP'I_‘ION-—G : Life Sciences and Environment
Paper Code : MDC0200703

OPTION—H : Understanding the Changing Environment
Paper Code : MDC0200803

OPTION—I : Business Economics
Paper Code : MDC0200903
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OPTION—A
_ Paper Code : MDC0200103
( Natural and Physical Sciences in Everyday Life )

2. Answer any five of the following questions : 2x5=10
o 2Pad i el Ao Ted fra

1. Answer the following as directed (aq) What is the name of natural monosaccharide found in fruits

— WWWWW : 1x5=5 and honey? Is it soluble in ‘:vater?
T WF (TS (] AT I RIResr W &7 3 “1e wdge
(a) is the simplest amino acid. i
(Fill in the blank) (b) What is nuclear battery?
X% Ty i’ @fps | (1) 572 =e1 =) | . e @R

() What are vitamins? Why are water-soluble vitamins required

(b) Which of the following contains limestone, cl
in small amounts daily?

. ay and
raw materials? Y gypsum as

P, IR S fHoM0 o CRTcB hor ST 9 _ By & R 2 “1fe wadn Rofrz [ g «iRmres ke e

() Cement / fora% 27 :

(@) Glass / am (d) Mention two differences between soap and detergent.

(iii) Ceramics / Bamif : BICA S SOTEF Heq o1 #A12(F ey 4 |

iv) Plastic ;

(iv) astic / #if2< (Choose the correct answer) . (e) What are micronutrients? Explain the role of iodine in our
(o= Teach! 7y Srea) body.

T FRhrdTe & 2 SR *Rive ww'fens sie &, e )

(c/ What is the full form of MR[?
MRI? 3§ S°[51 5 2 () What are called future fuels?

; S T FIE (TR ?
(d) Write the names of the two electrodes of a battery cell

@OIR P bR Yo’ Ol I forg | (g) Define peptide box;:;
' ' Co1°Ib® qria iees |
fe) The four elements most e i e :
SFEIEAR T SRR Ranevery, living thing are (h) What are germicides? Give one example.
I WORSLF IRk 2 (e ARy 2 : o
) H,C, N, O AenerreTz & 7 2 @b Trrzae fran |
() H, C, N, F ()  What are the constituents of greenhouse gases?
i) H, Li,
:ivj H él cl\;, ;J iveeE crTRd ST 3 2
] ] » (ChooS
© the correct answer) (i)  Write two examples of pesticides.
(5 THb1 21} Sfereay) " Pibmrrea 761 et v |

A25/690
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3. Answer any four of the following questions :

5x4=20

T 2R [ I BifReR Sae fayy

(@)

(b)

(c)

(d)

(g)

()

A25/690

Explain the steps of wastewater treatment.

S =1} SN 2T A 74T |

Write five differences between primary and sec
cells.

0 S (M (@O I e ASGT =ef ey |

ondary battery

What are beverages? Write the three classes of s
with their functions.

AR & 7 (om0 Ivze Ry A
| | WW&IC@IWW

ports drinks

How many carbon atoms are present in glucose molecule?
Draw the chemical structures of glucose and fructose 1+(2+2)=5

PP TLBS RIFb FHA o[ B ? IFG R IO
IPTS SRa167 (o o wigeeet <ol | ¥

What is soap? Give the chemical name of soap. Write g
uses of soap. K

B 57 SIeR IvERe AW o | s Rimm o
forar | e

What is solution? What are the different types of solution?
Give examples of the following types of solution - =

T3 % 7 w9 Rfen ez [ % 2 o7 v Sz fy -
() Solid in liquid solution/@3eT® (sG] *mefq T
(@) Solid in solid solution/¢sibre ¢siBT *Miefg wq

What is emulsion? Write different
types : {
e sy | pes of emulsion with

wud 6 7 swwes [ AT e ey forey |
Write a short note on any one of the following :
TS frl i CRICATl @BR o oY Gt fore '

(ij Greenhouse effect/Gio&52 gor
(i) Acid rain/=g 3f

[4]
( Continued )

4. Answer any one of the following questions :

o 2aEd R e @b Teq fir

(@)

(b)

(@)

A25/690 [5]

What are conventional and non-conventional sources of
energy? Write briefly about three non-conventional sources
of energy. What are the benefits of using non-conventional

10

sources of energy? 10

e S SererEee Xet It & 60 o R werRiTe

ﬂfxﬁ%wwﬁs{t@mmﬂwm%%wasﬁmﬁsﬁw

Cordl I/ ?

(i) What are colloids? How is a colloid different from a solution?
What are the methods used in preparing a colloid?  1+1+3=5
ez & 7 ob Fe ue G 7 e Bn e 3
51 2rge IS & & rafs sRegm o912 ?

(i) What do you mean by natural and synthetic pesticides?
Explain with the help of example. 5
AT ST Rt oA Fe 1 o1 2 Trr=IerR qEiR o |

(i) What are pollutants and contaminants? What do you
mean by heavy metal poisoning? Discuss about the toxic

1+1+3=5

effect of Cd and Hg on human health.

WWW%%T ﬁﬁwﬁ@qwﬁﬁqw
e Cd W% Hed Rare 2o srics e 41 |

(i) Discuss, in detail, about the classification of protein by

giving suitable examples of each class. 5
oAfesl R Toge Tamaerr ot cfiRereR R R
HICEADA F41

(i Discuss the different sewage treatment methods. S
Rfs 4R wiaear Rifea oafemz amam 41 |

(i) Describe any five non-conventional energy resources. 5
R I P51 SRS *fe ST e q¢fqn <1 |

( Turn Over )



OPTION—RB (b) Find the median of the following data :
9 48 1, 30, 32
Paper Code : MDC0200203 18, 26, o8, 15, DS o5 s
( Foundations of Mathematical . \ If 25 is replaced by 52, then what will be the new median?
1. Answer the following questions : woTe 7 O 71 9 efy 4
o ZPTRE Te B 1%5=5 19, 25, 59, 48, 35, 31, 30, 32, 51
« . I 3 r * ?
(a) 311; a I_lumber is divisible by 9, then the number is divisible by i 25 7 S T Rer
“;JﬁF;r; ;h;n c;ntraﬁ positive of the statement. (c) Solve 5x-3 <3x+1, when x is an integer.
: g Qe 2, O3 9o 33 ﬁw 2 : N "
R e Sfecs By | RSN SR T 5x —3 < 3x+1, TS x G TYY Y |
b) How e — types. L R (d) How many quadrilaterals can be formed from 10 non-collinear
6 vegetables? k-1 points on a plane?
634 -5 Reamiy sreme Tm[ #41fR 2 Q<] ST 4T 1051 AR [ o1 fembt segs oiod SR R 2
C If [—]AP LA ¢ N
(© aa I:Y is coded as JDPSA’ and ‘DANCE’ is coded as (e) How many natural numbers are there between 192 and 20%?
G’, then what will be the code for ‘CLASS™ ) 2
[3 5] ¢ o ?
I ‘HAPPY’ *ib¢ ‘JDPSA’A (ORI % SI¢ DANCE’ o 192 S 2027 T Rl FeiRe R R
FDNFG'S o1 =, (208 ‘CLASS’ *FCbr s 3o =i 2 () 1f the 10-digit number 897359y7x2 is divisible by 72, then
(d) If p stands for 1+1=2’ and q stands for ‘2+3 = &, then find what is the value of (3x — ) for the possible greatest value ofy?
the =uib yalue of By 4 729 @RI 10 S SR 897359y7x2 Reren =, 9w yI FeM
qﬁ‘1+1=2’mpﬁw '2+3=8’?W?.'Lb‘1qc§ =, com ﬂqﬂwwmﬁx—yﬁw%ﬂﬂ?
p v g3 SO fefg <1 | ! ?
How many integers between 1 and 500 are divisible by 3 or 5?
() What is the relation among mean, medji o
; ’ an and mode? oo e
4, LG O IR A STFACD! 5 2 %er?;slooa B Ak Sé e T AR S A
. Answer any five of the following questions : A
. & ¥ oy 2x5=10 (h) Under what condition, the AM and GM of two positive
} numbers a and b are equal?
a If “m 2 o T s .
(a) R e?nti , ' means ‘x’,' ¥ means “, %' means %, then 5 PETACT B! GRS RN a WE b ™I TG HEF SAST TG
which o e following equations is correct? ) i
M T W 2, v K, T Y, g e =, (o3
CPIICHT SN W7 =4 7 ® b () What is the sum of the coefficients in the expansion of
(i) 36x4-12+5+3 =420 [Qx__an?
.3 2
i) 42+4+5x8-2=26 x
(i) 43x7+5+4-8=25 i }8
. 2x —— | 9 Rrgfes e iR e 2
fiv)] 36-12x6+3+4 =60 [ xQJ
& .
3 Nagao®™.
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3. Answer any four of the following questions :

If A is the brother of B, B is the sister of C and C is the father
of D, then how is D related to A?

A (%2 BI ©f%; B (Z(® C3 =l 5 C ACICE
DR 0Tt A9 T 571 =g 2 e, o

T AR T e v Tee

(@)

(b)

(e)

A25/690

The angle of elevation of the top of a tower is 30° On walki

20 metres nearer in the direction of the tower the angl ngf

elevation is found to be 60°. Find the height o’f the tow: ’
T,

91 W9 AR 7141 T (19 30°. BIGR T 20 g g
MR T (I 60° T | WO T ey <wy | e

A train passes by a signal post in 30 seconds and 125 metr
long bridge in 45 seconds. Find the length and speed esf
)

the train.
Q3T FEMEIH 30 (RFLS b1 ST Bl w0 125 R5R Meet worg
45 (P oG I AW | @EIORA 07 e o1 frefy < | e

The ratio of three consecutive terms in the expressio
(1+x)7" is 1:7:42. Find the value of n. e

(1 +x)"3 Rrpfow fofihr @i I M SPiTS 1:7: 42, g i ey
Sall

A rectangular piece of paper 11 cm x4 cm is folded without
overlapping to make a cylinder of height 4 cm Find th
volume of the cylinder. . z

11 cm x4 cm SR F00@ GRe e R/ICAR Tmne S o
TR P81 JCAI 29, 7S PEIHR Tl 4 om = L
(erpIfer) fefa ¥ ) b

Find the sum of the following :

o CAISIFEACH! e <5

Y 2F +3k2)

10
k=1

[8]

( Continued )

Sx4=20

(9)

(h)

4. Answer any one of the following questions : 10
oo 2CERA T (I bR T fi
(a) (i) U the sum of three consecutive terms of an AP is 21 and
the sum of the squares of the terms is 155, find
the terms. 3
51 e i e TR o @ewe 21 W PR B[
e 155 = | #fesenl [ &6 2
(i) The difference between the AM and GM of two numbers
is 16. If the ratio of the numbers is 1:25, find the
numbers. 3
BT SR SR T WE GeTed TR ReAow 16, WA TP
AT 1: 25 T R 01 7 2
(i) In an AM, the sum of first 10 terms is 30 and that of
the next 10 terms is —170. Find the sum of the next
10 terms. 4
B WG GBI g 1051 FHF o9 @sFe 30 WIE ©N R
105 GRT °Fa @5Fe —170. 3291 “led 1001 SRS *Fa aRee
Tfere |
[9] ( Turn Over )
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The means of two samples of sizes 50 and 100 respectively are
541 and 50-3, and standard deviations are 8 and 7
respectively. Show that the mean and standard deviation
of the combined sample size of 150 are 51:57 and 7-56
respectively.

50 W€ 100 WHE 71 afonfa T T 54-1 WE 50-3, HF AW
Rpfs e 8 = 7 = | T YW 2Aforfa T 150 W, (938 (YIS @
sicgan 2o Teg e eI RS @ 51-57 o€ 7-56 2 |

The father-mother of a person is 2, grandfather-grandmother
is 4, great grandfather-great grandmother is 8, etc. Find the
10th previous hereditation of a person.

e AR 2 T PIg-19, 4 T TI-WI2D], 8 Tl SACHFI- -1
el SR | WREE WK 20T IERLa] o TR Sferea |

If X and Y are two independent random variables, then show
that they are uncorrelated.

o X I Y 701 o AR b T, (908 (Y&l @ ¥R T R




Dhe.’(ia/,

W

—" T

(e) What are the geographical sources of information?

O (IR TR 3 9

() Write the difference between dictionary and en

(9) What do you mean by digital literacy?

feferter srever et s qen o

(h) Give any two examples of Web 2.0.
Web 2.09 R (G 751 Szt oy |

() What do you know about th
. ‘disinformation’ on social medi

IR e ‘misinformation’
e

€ terms ‘misinformation’ and
a.-

®IF ‘disinformation’ I

()  What are e-books and e-journals?

e-books 1% e-journals f 9

Sx4=20
SO 2R {1 R AT Wi T fgy
(@) Write about documentary ang non-docu
ment
i ntary sources of
B9 documentary ¥ non-documentary e T forar |
(b)  Write about the evaluation of reference Sources
SRR BT T Ry frey |
(c)  What do you mean b i
s Y medig Convergence? Write its Impacts
1a convergence
_ ﬁtﬁﬁﬁ?mmmﬁ%ﬂl
(d) Write the use of socj
- cial Networking platform for library Services
CHIG CFa® T cafite Celberstq
R TR ey frgy |
A25/690 [12]

( Continyed )

(e) Describe any five types of database of e-resources.
B-374nd R GG Ab4aeT SIbIRd 36T 4 |

.[f) What is a dictionary? Write about the uses of dictionary.
sy .2 sfeama e e fran

(g) Write about the importance of referral service in libraries.

RERIEIS] referi‘al serviced @Fg FCE T |

What do you mean by digital media ethics? Write its
" importance in present-day context.

RRche WA CAfeel Jfeice I 7 TENW FRE (erFEDe WH Y

S fordn |
4. Answer any one from the following questions :
SR 2 o1 R @I @b T fi
What do you mean by documentary sources? Explain various
o types of documentary source of information.
9 t
Documentary sourceldd ﬁﬁiﬁ & =17 ©¥R™ documentary
sourced {fen 2T BREEHENIEEIN
hat is. reference service? Differentiate betweer.l long-range
% “;f::'encc service and short-range reference service.
r _ D
o5 Tl &7 Long-range 2PR% (1 € short-range oRel G119
\ .
ofePTgE Ty 4 |
What are bibliographical sources? Write the wuses of
@ bibliographies in research work.
Bibliographical T&1 el & @17 ST (Fq© bibliographyd
@ TICE T |
What are digital reference services? Write the characteristics
e and importance of digital reference service.
Rfese e crPnz & &2 s @eese orr @R e
By I T |
690 [13] ( Turn Over )
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OPTION—D
Paper Code : MDC0200403

( Personal Financial Management )

1. Answer the following as directed :

TS TR AP Teg fore 1x5=5

“(a)

(b)

(c)

(d)

(e)

A25/690

What is bond?
PP W 13 2

What is the maximum duration of the
traded in money market?

T TS R PN RO AR A ey R o
() Less than a year/qzgw(se oy

(i) Six months/%91%

(i) Three months/féf==

(iv) One year/<93q%d

financial instruments

(Choose the Correct answer)

(g mmﬁi%ﬁv{m)

Name the broad market index of NSE.
NSEF g% J&=7 5319 71 3 9
(i) SENSEX
(i) NIFTY
(i) HANG SENG
(iv) DOW

Pie chart is a tool of technical analysis

7% o1 Carr FIRF Resmer b1 wfde | (State Trye o False)

(% &1 s )

What is fundamental analysis?

cnfere Reemer Tea & 2

[14]
( Continyeq )

2. Answer any five of the following questions : 2x5=10
. wore T epIARR R e =imbe Ted fora -

(@)

(b)

(c)

(@)

(e)

(9)

(h)

G

A25/690

State the concept of investment with examples.

TrrRerTR RfFcsE qRe I

What is primary market?
el e IR 2

State two advantages of pension fund.

cofee <@ o1 SR o

Mention two instruments of money market.

@1 TGRS o1 Sfen Sy 9 |

State two features of capital market.

T e o1 CafEy Seay 4 |

Mention two participants of derivatives market in India.

ST (THIRCSBS TGRS TE SAHIERIFIAG I TS 47|

State two benefits of investing in mutual funds.

A “ffere Rftcaem 101 3jfRen Teay 7901

Write two differences between fundamental analysis and
technical analysis.

e Riose o 1R Reser e 161 e &= )

Write two differences between primary market and secondary
market.

e T WF (N TSR TS 701 AL &7 |

Mention two benefits of investment in gold.

el Rfftcns® 7o1 3R TrEy 301

[15] ( Turn Over )




3. Write short notes on any four of the following : 5x4=20 OPTION—E

TS AR R G DG 719 oy B o Paper Code : MDC0200503
(@) Investment environment/RfFcHsE *fRga ( H;manities anddS::iallsiigc;:—)ll :
! emocracy an ples’ Rights
(b) Non-security form of investment/w-ﬁﬁo_\g% o) R Can e follows L : ol
: 1. swer the following as directed : x5=
{c) Contents of ‘a prospectus /&M@ GO Ryrem wore R fAetepiR Teg o
(d)  Insurance/dm (a) Constitution is the supreme law of the land.
s , . (Write True or False)
fe) Foreign exchange market/&i% Rffmy 1== SR WW i | (%1 G =pTe o)
bt kel (b) Write any one feature of citizenship.
(9) Types of derivatives market/(Sqi3ebe &R 2] Aefeega R e «o1 CafiEs s |
(h) Benefits of stock exchange /elfﬁ‘o_\:;% R R (c) IsIndia a truly :;fieral country? (Wrzte Yes orﬁl::;
T Y3 Aol TG A 7 [ E =
{s4. Answer any one of the following questions 10 (d) In which year was the Right to Information Act enacted in
q; -
=\ o 2o R e qbe T fan . India?
" e TS (P 5 O/ TR SR SR 22 1 C2feE 2
=
=) What is investment decision process? Dijg ) 4
%JP ,:'f steps in'volved in an investment decisjon p:c:::?ssthe various (e) Who is the author of the book, Democracy and Its Critics?
‘\"'\.’9- ';'.‘}/", * Its C .ti ?
Uy % W fRfcer P s T 79 R § 2 : ; Democracy and ritics *INE AT (FIF (FH
e A e 4 | wee fifdy |
2. Answer any five of the following questions : *2x5=10
Elab i i i :
o inathzri\ig ?;:i?iai;e‘;amus methods of issuing Securities woTs fi 2P G LB R
o e q@me afeefs @it vam Rty TaRe Rcs s (a) Mention two civil liberties of people.
Eall SIS o 7R ¢ ST Sewy |
(c) Discuss, in detail, the three sl ()  Write two differences between constitutional law and ordinary
anzlysls, mponents of fundamenta] i law.
S T S A qo1 N oy |
caer R D1 1 S Ry frecora s SRR iR g
: T (c) Write two means of acquiring citizenship according to the
(d) Discuss the structure and limitations of Indian M Indian Citizenship Act, 1955.
0
“’Z’wﬂ?{mwmﬁﬁwﬁmmmmw St shee 59 SO WY SR PR TRy S 751 Temg fora |
: _ I
A25/690 | [16] A25/690 [17] ' ( Turn Over)
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(@)

(e)

@)

(h)

()

0)

3. Write short notes on any four of the fOHOW‘ing ;

woTo e R e wifkom eome vy et forg -

(a)

(b)

(c)

‘A25/690

Mention two features of MGNREGA.
MGNREGAS 71 ¢3f8) Starg 41 |

Mention two essential conditions for successful working of
federalism.

TSAEH HIPRE el PR AT Soif2r 51 56 S 701 |

Mention two aspects of right to equality.
SeR SiRFRE 701 el Srary 394 |

Write the full forms of NRHM and NUHM.
NRHM & NUHM 3 57§ F 751 i< |

Mention two political rights ‘enjoyed by the Indian citizens,

SIS TIoRPRC TSI 1 Bl IAE SRR ey . |

Write two differences between Federation and Confederation

TG WIF TGP TG 161 A1 ey |

Mention two hindrances to good citizenship.

IoIRPed 701 elfSmel Tray 1 |

5x4=20
Significant features of libera] democracy
TR SITOF WIeee]ef FErTE

Right to food
4 SEFH

Difference between Citizen and Alien

TeRT o Rete em vl

[18]
( Continued )

(d) Essential conditions for successful working of democracy
SITeR FFETOIA FRE TR R vom@a

(e) Provisions relating to education in the Constitution of India
e TR FREE FrE TS IR

(l Relationship between people’s rights and democracy
ST SRR S 9107 e TE

(g) Globalization and citizenship
e = AeReY

(h) Representation in democracy
sirege 2fefieg

4. Answer any one of the following questions : 10

were Tl orad R e @b T fors -

(@)

(b)

(c)

(d)

A25/690

Discuss critically about National Health Mission.

6 e SRR R SRS S SRR |

What is the significance of dissent in democracy? Discuss.

sreE® MO ISR fF 7 SCEDa 4 |

What do you mean by federalism? Discuss the features of
federal government.

AT I T & 2 TEIER DI CFEPTR oA 31 |

What is civil liberties movement? Explain its importance in
democracy.

AR FAT! SIcTew (2 SiToae TE @Y I el 41 |

[Ié] { Turn Over )




OPTION—F
Paper Code : MDC0200603

( Information and Communication Technologies—II )

1.. Fill in the blank :

& 3R {9 T

(a) is a programming language.
o7 2Parfe e

(b) The full form of Unicode is
Unicoded 7 Tich1 €51 ____|

(c) The full formn of ASCII is :
ASCIIR “ff <efch1 277 _ 1

(d) is a wireless communication technology.
b1 O 9= e oy |

& - (e) is a video confergncing platform.

91 fef®’ conferencing e |

"~ 2. Answer any five of the following questions :

@S [l 2PN R I #ivhe Teg fygy -

(a) What is digital technology? -
o efe &0

(b) What is flowchart?
Flowchart 7

(c) What is algorithm?
gois' R 1% 2

(d) What is digital information?
ffehe w2y f&5 9

A25/690
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1x5=5

2x5=10

( Continued )

(e)

()

(h)

0)

What is octal number system?

Octal number system &7

What is grey code?
Grey code 7§ 7

What is LAN?
LAN &7

What is physical media?
Physical media & ?
What is Wi-Fi?
Wi-Fi 752

What is Internet?

Internet 2

3. Answer any four of the following questions : 5x4=20
woTe fral 2ARA R I BReR T fora
(@) What are the characteristics of an algorithm?
51 Ges Ry e 6 R 2
() (i) Convert (27);o to binary number.
(27);0 RIS binary RIS AT F41 |
(i) Convert (56)g to decimal number.
(56)g TRUF decimal FRYTS LT T |
(¢ Draw a flowchart to find the largest of three numbers.
RofET SR OIeACH! TGt flowchart =< |
(d) Write, in brief, about digital transmission.
Digital transmissiond fCa 54t =1 1
A25/690 [21] ( Turn Over)




2,

<, o

(e)

(9)

4

‘."/ ¥
4. Answer any one of the following questions :

Write a short note on Wi-Fi.

Wi-Fi 9 7K «b1 o (Bt forsn |

Prepare a list of common types of networking devices.

RIS IS ([T (F63F SfEe9 ©Ifere 25 <o |

Write, in brief, about any one of the programming languages

& 1A 9ot of’anfRe SEE REc vyt B |

What is video conferencing? What are the components of video
conferencing system?

Video conferencing & ? Video conferencing systemd ToMMER
o f2

10
weTe gl AR R’ @I «BR Teq for
(@) Write an algorithm to convert a decima] number to binary
&1 decimal RYTF binary 5 T3 Rate @R e |
(b) How is information represented digitally? Explain
2 (AT TEECHIMC represent 1 77 9 1T 7 |
(c) How to set up a LAN network? Explain,
LAN network (Tt af$g1om /7 of¥ 9 A T |
(d) Write short notes on :
= . - My S%2=10
(i) Chat application
[ WWW i -
A25/690 [22]

( Continyed )

OPTION—G
Paper Code : MDC0200703

( Life Sciences and Environment )

1. Answer the following as directed : |%E=5

LS
(@)

(b)

(c)

(d)

(e)

A25/690

IGUSISE ﬁf‘f"‘ﬂ‘;ﬁ T o -

Which of the following is a consumer?
O (FFICH1 G Toicere] = ?

(i) Plant/%fe%

(i) Algae/ CTRTR

(i) Fish/IR

(iv) Phytoplankton J3fen aae

(Choose the correct answer)
(7 TeaCh! 1R Serean)
Which of the following is an example of sedimentary cycle?
wor CFICHT (M Bard BT TR T 2
(i Oxygen cycle/‘ﬂ@'@ﬂ B
(i) Water cycle /S
(ii) Sulphur cycle/ZFRR °F

(iv) Carbon cycle/?ﬂif‘l D
(Choose the correct answer)

(wm Teachr AR Tferear)

In a food chain, producer occupies trophic level.
' (Fill in the blank)

¢3ET® TR (RS TS AT |
GOTe A % R —

of atmosphere.
(Fill in the blank)

Ozone layer is present In

' WACH! I O A | (<18 57 ot 1)
Write the full form of BOD.

BODA =l Fiere! ford |

[23] ( Turn Over)




2. {a)

(b)

A25/690

Distinguish between (any three) :

2% feran (R e fefomr) -

() Producer and Consumer
TATTS I TP lCeTS]

(i) Food chain and Food web
M X/ I M el

(i) Parasitism and Mutualism
@Il IF RISl

(iv) Biotic and Abiotic components of ecosystem
JARfEfoemr wike wIF Saike Semm

(v) Natality and Mortality rates in population
GRS S SIF T9IH TR

{vi) Primary and Secondary pollutant

o1 S N A7ES

Write on the following (any two) :

)

(i)

(@)

(iti)

(iv)

francarea eoree o (R crea w3)

Dissolved oxygen
TS e

Ozone layer depletion

'Y’ BE T

Biotic community

(o M

Ecological succession

“Rfefoeg s

[24]

2x3=6

2x2=4

( Continued )

3. Write notes on / Answer the following (any four) :

5x4=20

o fraTaEe evre (ol forar/Tea i (R coreen wif<en)

Scope of environmental science /7R R@mR o™

(@)
(b) Carbon cycle /I 5&F
(c) The role of biotechnology in pollution control
ot Fmgere IR SR gt / \
g \
(d) Characteristics of population /SR [SIREIMPES \% )
. ) /s)
(e) Discuss the causes of global warming. \W:, A /5
comTT Tl Jfad FREPTIR SCEDAT 41 | &3
() Different layers of atmosphere /IEHNYT EICE| TIPTR
(g) Define biome. Write four characters of tropical rainforest.
m’mﬂmﬁw@@a@ﬁmmﬁﬁﬁﬁﬁrﬁml
(h) Greenhouse effect/ SIDES g0
4. Answer elaborately (any one) : 10
ety e fi (R «bl)
Discuss the impact of climate change on living organisms.
& Wqﬁz@?w\o@«@mwm SR A 341 |
do you mean by water pollution? What are the different
L es if water pollution? Discuss the effects of water
sourc : il
ollution on living organism.
:ﬁ ot ot 6 T2 o e RfeH opmR [ 67 & eome
o) AE ASTPTR e 90 |
Describe the flow of energy in an ecosystem.
i g fed 2R (R s 31 40
d) Write an essay on sustainable development.
L e R 87O 9 <o feran |
/690 [ 23] ( Turn Over)
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OPTION—H

Paper Code : MDC0200803
( Understanding the Changing Environment )

1. Answer the folloiving questions :

. O 2RPTRT T fag 1x5=5
(@) In which year was the Kyoto Protoco] adopted?
e
FC01 pfe fem o= tafze 0
(b) In which area of the world i
1d is th y
Tribes found? € concentration of Bushmen

R @ TS JRC TS TR 34 72 corray 3 9

() Who is the father of Green Revolution in India?
ndia?
SRS Give Re Pore 1 i =m0

(d) Which‘ toxic gas was responsible for ‘Bhopal Disast
A aster’?

() In which layer of the atrm
mosph
decrease with the height? b

IRAGTS @mwmwwwﬁmaﬁw?

the temperatyure

2. Answer any five of the followi
ng questions in v
€ry short .

OO 2PPIRA R 7 CPICT A0 Tad wif vy figy 2x8=10
(a) Mention the components of environment
[T THMIPTIR T 541 | .
(b) Write the gaseous composition of the at
AT (IR N5 ST foray | ki
fc) Mention the role of water vapour in th
e
LTS A SR SR Sray 304 | st
A25/690 [26]
( Conﬁnued )

A25/690

(d) What is lapse rate?
@R TR FIF (@Il ?
(e) Mention the types of biodiversity.
raa (abaE aRrReTE TR I
() What is ecology?
JRFEfeREM T @ ?
(g) Distingﬁish between naturall and artificial ecosystem.
oo e g IR e A T
(h) What is food chain?
I *RLE P @A ?
() What is ﬁ1e role of decomposers in an ecosystem?
fRRfoer Wbre Rumeed sfie & 12
() ~Name the greenhouse gases in the atmosphere.
FEYTS I iowE (T W
Answer any four of the following questions : 5x4=20
o e e ifRom Tee fran :
(@) Discuss about the structure of atmosphere.
AR e TR S 4 |
(b) Write a note on hydr010gical cycle of the earth.
i woE €T af5 Cort for |
() Discuss briefly about the concept of balanced environment.
C,
e LG ST |
() Discuss about the flow of energy in an ecosystem.
< ~{ffoege g et R S T
[27] { Turn Over )




(e)

Write the causes and control measures of water polluti
on.

AR SR I WP T T e

OPTION—I
Paper Code : MDC0200903

( Business Economics )

(/) Discuss about the causes
of T : sl
environment. sunami and jts impact on
W AR IR qF KPR SR 2 o1 1. Choose the correct answer of the following : 1x5=5
_ TSI AT <64 | oo AR W Tech! A Sfered :
Writ x : ; 5 :
(g) In:;i aen ac;;ii ;n man-made disaster with Suitable example in (a) Which of the following is part of microeconomics?
: ©q (FICOI Ty HAIfed TEYE ?
©Neq (2FI#0S -8 L{SIREREe AR @ R ) ! '
T8S F9q1 | () National income
(h) Write a not th idli . Y
ote on the Wildlife (ProteCUDn) Act of India BRI
TR JAN (FRFH) W @07 «ff (B 3@ 511 | ' (i) Unemployment problems of society
S e fAeE
. Answe ~ ;
57 o ong i e ;‘:l"wmg questions : (i) Fiscal policy of nation
O] EPTIRA °[1 [/ (I GBI Teq 10 =4
: ey S
(a) What is biosphere? Explain the characteristi ) (iv) Price determination of a product
and state its interrelationship with il 1Ics of biosphere @B TR 7d R
4 T
AT v e of the (p) If the quantity demanded of a commodity is unresponsive
Gy &0 SRmysE GREPTE T T off to change in price, then the demand of that commodity is
ST S RS were ﬁﬁﬁmﬁﬂmﬁﬂmﬁmmmﬁ%mm,m
j : 2 AR BIfE 29
(b)  Explain the human adjustment in equatoy: : ; of wf%fow
mountainous biome, Quatorial bijome - (i) perfectly inelastic /3™’ O
gl s e o1fer <59 R Tz o | i) elastic/RReE®
2 G A | ST AT, 277 2y | (i) unit elastic/ 4w TR
rite a _note on the relationship between _ (iv) complete elastic/ﬂ""f"f PfoRIR
and environmental degradation Populatippn .
S % : growth () In short run, when the output of a firm increases, the
?ﬁﬂl\ PR AR SPoepq SRS gy average fixed cost per unit of a firm will
ie s, R 2B R SR AR T, 6o 2R BRI
]
(d) Discuss how deforestatio
; n and )
climate change. deserﬁﬁcauon contrip % Em "
ute ¢ ' e /A4
IS R/ F TSRS @t R ot (i increase/ —
A TS Sy (i) remain constant/
G, WTCF[W
A25/690 (iii) decrease/Z M
[28 ] (iv) d.is:.{ppcal‘/"’“f'ﬁ Lk
{Comi [29] ( Turn Over )
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(@)

(e)

A25/690

Which of the following Statements about th
of a firm under monopoly is trye» ¢ demand curve

3 demand curve of a fi

(i) In monopoly market, dem

(i) In monopoly market, dem
exhibit any relatiohship of demang

BIRA (412 G TR e

€ of a ﬁrm
does n

Qﬁmmw%w

(iv) Only in the time of endin

and price Onship of demand
PRI IR TR etz ey -
12 Crgam | S TR g Bifnr

Which of the fol'lowing is an example of
the firms are price-makers? market form where
O (FICH! QNWWW’J’GWW“%%
(i  Oligopoly ;
FECFON T&T
(i) Monopolistic competition
ﬁzsm GFCO TR 2ifscaarer
(iii) Monopoly
G &
fiv) Perfect competition
o eifecrioem T&m
[30]

( Continyed )

2. Answer any five of the following .questions in short : 2x5=10

o 2P A GRICAT SAobe v TeR i
(a) What is the basic difference in. between micro- and
macro-economics?
5 S RS SRS T 7 AL 2
(b)) What is trend projection method for demand forecasting?
SR SREI I ¢S 4RI ATHAT wS e 2
(0 What is the basic difference of ‘demand’ and ‘desire’ of
a consumer?
GE (STe[ DI’ WF FRAR'T Awe 37 14y 2
'(d) Write the basic distinction of opportunity cost and out of
pocket cost.
1o T S I RN G ol A <M 2
() How is isocost line different from isoquant line?
SR @] BT (AR Al (@R I ?
()  Write the two features of perfect competitive market.
opef ifCaTORE T o CafEs T |
(g How is oligopoly market different from monopsony market?
RGN TR T (PO JEE I (T 4@ 7
(h) How do you define money and money supply?
@1 S Y@l A R @ frar?
3. Answer ’any four of the following questions : 5x4=20
oo apar R (I DR T fe
(@ What are the factors determining cha.ngé in demand?
ST RS I omeeTR & 92
(b) Write diseconomies in large scale of production.
EEN ﬂﬁwﬁévnw CHES o3| Ry T8 |
A25/690 [31] ( Turn Over )




(c)

(@)

(e)

4. Answer any one of the following -questions :
o PIERA R 1o bR Teq i

What is price discrimination? What are the types of price

discrimination? 2+3=5
7 fomer [ 7 we fonor fifey oo & 62

State how consumptions and savings are related to capital
formation.

T ST (IS (15T T ] T T 2

How is Business Economics different from Economics?

e w=Hifs LA @1 et 427 2

(@) Explain the law of demand and its limitation.
i Rifd = T S i 4 |
(b) Explain the cost—output'relationship in long run with suitable
diagram. .
T oq SZFIT T F SRS RLSIA i R0 3947 |
(c) How is price determined in perfect market competition?
Explain. '
o afecafarer T&R ™ @oTed Rdife =7 e < |
(d) What is GNP? Analyze the process of determining GNP, 2+8=10
o AE AT R 2 P A Teem Peffa T ratS Ry w1 )
* % A
A25—75*/690 [32]
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